N & 0l & AF S & M M

20198 & =0l& LB AE A

SN ARXAD
3 MsaY |4
Sl HMS NE 2 X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AR A D} 8,606,780 8,789,472 A 182,692
= 103,093
s 2,073,000
J| 199,758
< 59,476
s 6,171,453
Moy 84 7,990,485 8,434,531 A 444,046
s 2,073,000
J| 199,758
< 5,928
[ia 5,711,799
s ds 2 XA 2,423,234 3,110,372 A 687,138
= 2 g 160,000 150,000 10,000
307 21201 A 160,000 150,000 10,000
04 QIZFHALAIH B = 160,000 150,000 10,000
OdyEo & dZH =223 160,000
d= HAAZ Ha 200,000 190,000 10,000
307 glz2tol & 200,000 190,000 10,000
04 DIZHHALALSE 2 X 200,000 190,000 10,000
Od= s HEE 3l 200,000
AL NSTHE 70,000 70,000 0
307 glz2tol & 70,000 70,000 0
04 QIZFHALALH 2 = 70,000 70,000 0
OUsgtl & S22 NEUE 70,000
A3 =&AI U3 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
Od=dUHsdESE =23 U3l 40,000
=2 s20E 370,000 300,000 70,000
307 21201 A 370,000 300,000 70,000
04 QIZFHALAIR B &= 370,000 300,000 70,000
Od=a2sn=7U3 130,000
Od=ZTEsIAd=AUE 240,000
d= =7 3l 260,000 290,000 230,000
307 21201 A 260,000 290,000 A 30,000
04 QIZFHALAIH B = 260,000 290,000 230,000
osgasth DuE-0Ual 260,000
S.0tH dXed 100,000 140,000 240,000
307 21201 A 100,000 140,000 240,000

04 QIZHEHALALE B = 100,000 140,000 240,000




2M A=A
3 MsaY |4
Sl HMS NE 2 X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Os - otH &Xlzd =X 100,000
23 M=ts & 17,140 9,140 8,000
201 Lt 11,740 6,740 5,000
01 At 22l 11,740 6,740 5,000
OAZXMUS Hxl E2 =2 M
60,000 x50 2 *153] 4,500
OAZ=([z F& S4 8,000& »4H+70 2,240
OA&E AZEMS AlE Xt 5,000
202 O4dl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
Od=te M=EUaFI X& 8
60,0003 »4H x5 1,200
OdGHAE & &9 MUt NE S
60,0003 »4H x5 1,200
405 TtabH S| 3,000 0 3,000
01 et ESFH S 3,000 0 3,000
OXMsUz 2428 7L (2a, oK, EIHOI
£ 8) 3,000
AESHSUHERIXA 121,000 111,400 9,600
202 Odl 1,200 1,200 0
01 = LH 4 Hi 1,200 1,200 0
OM=sUa S & HXOY =& S
60,0003 x2H 10 1,200
203 ¥ S =&l 20,000 20,000 0
03 AIMZ=XH 2 =IH| 20,000 20,000 0
OM=sla g2 =& S 20,000
301 et d = 4,000 4,000 0
09 HALAHIE& S 4,000 4,000 0
OMSHH 212 & A 4 24
8,000& x50 103 4,000
307 glz2+ol & 95,800 86,200 9,600
03 BIAHMNHE2IHIEL 95,800 86,200 9,600
OdZzHd=2 24H XN 68,200
—ANRHE 23l 1,000,000 x1H+12& 12,000
—ANR=E 23| 600,000 »2H «12& 14,400
—&dgH& =4 23Hl 400,000 x1H 123 4,800
— At 2teldl 950,000& »12& 11,400
— 82X oY 1,300,000 1 12& 15,600
— XY 2FH ¥ E8= 10,000
OgZ=zdMeM=a 234 XN 27,600
—AR=F 23l 600,000 x1H «12& 7,200




2M A=A
FM: HsdE 84
Sel: M T2 2 A (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— AR 22l 400,000 x12& 4,800
— 82X =2y 1,300,000 x1H x12& 15,600
S 24 179,609 174,897 4,712
301 et A3 179,609 174,897 4,712
o=t - 2S2S243 179,609 174,897 4,712
Oz e =8+ 4 179,609
—Jlgsrsad, 388)
1,953,200 x7H x12& 164,069
—3Jg ga = 65,000 x7H » 128 5,460
—EEag 120,000 x7H x 123 10,080
d= MUz ot XN 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
O&= M=l & AEMAE It d== XA 10,000
Lol MEXN=HE XA 7,000 7,000 0
307 i+l & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0
OHM14a8l QI MEH I F Ot 7,000
=2 2 & o9 MU N2 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
Ok &9 M=sWs &It 20,000
= &9 M=sds XA 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
Oz &9 M=sU3s K= 20,000
detg: M=o ot XN 140,000 140,000 0
307 glz2tol & 140,000 140,000 0
04 DIZHHALALSE E X 140,000 140,000 0
OHM583 dMetgds M=sa &It 140,000
detgds ZoHel MsEds o XN 30,000 25,000 5,000
307 glz2+ol & 30,000 25,000 5,000
04 QIZFHALAIH B = 30,000 25,000 5,000
OHM2ral Metdx M M=zl &t 30,000
dEHE =84 X 200,000 200,000 0
307 21201 A 200,000 200,000 0
02 QB AAFEX 200,000 200,000 0
O&dgHd =254 N& 200,000




2M A=A
FM: HsdE 84
Sel: M T2 2 A (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T &9 HMs0s o X 60,000 20,000 40,000
307 gl2tol & 60,000 20,000 40,000
04 DI2ZHHALALSE E X 60,000 20,000 40,000
O &9 M=sUsal Nzl XN 60,000
d=HAE NHBASH X 4,000 0 4,000
307 glz2tol & 4,000 0 4,000
04 QIZFHALALH 2 = 4,000 0 4,000
OEIMAE KO A KA 4,000
OO Bi7na 24 15,000 20,000 A5,000
307 21201 A 15,000 20,000 A5,000
02 QB AAGFEX 15,000 20,000 A5,000
O0OiU Hi7wa 299 15,000
= 2% 03l 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 QIZFHALAIR B = 50,000 0 50,000
O=ZEZ=UHE M= 50,000
AU EE 29 38,125 365,935 A 327,810
101 @14 Hl 38,125 282,025 A 243,900
04 JIZHHZ22XRHEE S 38,125 282,025 A 243,900
OaUl+=gd FEa 38,125
- JleEs(gY) 66,800 x2 x6/8+200 20,040
- JeEs(xy) 66,8003 x2H x53 7,081
- FERexE 66,8002 x2% «6/8+535 5,311
- 5¢2RH 66,8003 x2H x150%*9 1,804
— 40=2E= 35,349,000& x11% 3,889
S3AZT=2Y K& 200,000 200,000 0
307 21201 A 200,000 200,000 0
02 QAFAANFEX 200,000 200,000 0
OF&FC U-15 XI & 100,000
Og&FC U-18 XI&A 100,000
detgEdsia =4 2 A& 105,360 0 105,360
202 o4dl 6,360 0 6,360
01 = LH o4 1l 6,360 0 6,360
OFGHAE =4 & X0 =& 6,360
— B AIEME BIXI0t2 60,0002 x5 x6 1,800
— YA WX0H (&A D)
60,0003 «2H 22 « 194! Dt 4,560
307 glz2tol & 99,000 0 99,000




2M A=A
3 MsaY |4
Sl HMS NE 2 X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 99,000 0 99,000
OSads 22 U B4 (2E4Y)
100,000& 708 «12& 84,000
O 23 M&E & = 15,000
—dENE S22 NE 1,000& x5,000% 5,000
—NEME E2 L U3l el 10,000
dEEMLHE =24 N 6,000 0 6,000
307 glz2tol & 6,000 0 6,000
02 QIZtE M AHEE 6,000 0 6,000
Odg&MeNe s==4 N& 6,000
MEHs 0 =20 421,168 405,170 15,998
J| 199,758
< 5,928
s 215,482
UBIMET XS X BRI (S X&) 128,040 128,040 0
J| 64,020
s 64,020
307 21201 A 128,040 128,040 0
J| 64,020
[ 64,020
02 LAFAAFEX 128,040 128,040 0
Oger MY S BiXI(5Y) 128,040
J| 64,020
s 64,020
Bt MER XS A OHXI (XA 20,000 14,000 6,000
307 gl2tol & 20,000 14,000 6,000
02 IZtE S AIHE L 20,000 14,000 6,000
Oget MEXNEANEZA SZH
200,000 x5 128 12,000
Oger MEXEX X HEFOHI
200,000& x5 #23| 2,000
Oget MEMSXEX =S4
100,000 5 x12& 6,000
HEA MEXMSXZX BIX(2SXE) 153,648 153,648 0
J| 76,824
s 76,824
307 21201 A 153,648 153,648 0
J| 76,824
[ia 76,824
02 QB AAHE X 153,648 153,648 0
Oz MBI IXIALS (6Y) 153,648
J| 76,824
e 76,824
Hzd MEMSXSX X (XA 24,000 16,800 7,200




2M A=A
FM: HsdE 84
oo dEXHSs 0 =0 (S &)
= - L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 24,000 16,800 7,200
02 PIZHEHAHEE 24,000 16,800 7,200
Odz4 MEMSAEXH =&
200,000 x6H 128 14,400
O24 MEXNsANEA ZBEFOH
200,000& x6H +23| 2,400
OdzZ4 MEMSAEX S4H|
100,000& 6 128 7,200
o MEMSXEX HXI(2SKH) 25,608 26,810 A 1,202
J| 12,804
s 12,804
307 gl2tol & 25,608 26,810 A 1,202
J| 12,804
s 12,804
02 It M AHE L 25,608 26,810 21,202
QX0 MEBIUSXEZA HIXI(1H) 25,608
J| 12,804
i 12,804
AZ2H0IE2A XA 65,872 65,872 0
J| 46,110
< 5,928
e 13,834
301 L2 LS 65,872 65,872 0
J| 46,110
< 5,928
fia 13,834
01 MEIBEZE 05z 65,872 65,872 0
OAm=2txolg=d XI&(700¥) 65,872
J| 46,110
< 5,928
[ia 13,834
ZOHQ MEXMFXEZX BRI (KEA) 4,000 0 4,000
307 21201 A 4,000 0 4,000
02 UAFAAFEE 4,000 0 4,000
OZOe HEMSANE=X EFH|
200,000 x1H =123 2,400
OHMe MEXMSANEI EEFIH
200,000 1 »23] 400
OFe MEHMSXNEZA S4H|
100,000 1H «12& 1,200
HEALE &= 3,568,922 2,541,000 1,027,922
ras 1,698,000
i 1,870,922
o=l MESAE X2 148,922 148,000 922
401 Al B2 28I 148,922 148,000 922




SN ARXAD
HH: YR K4
e HSAE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 Al&H| 148,000 148,000 0
OSUHMSAIE (0 2s017) &
8,000,000 1604 &~ 128,000
OsUMEANE RANEX 1,000,000 *2004 & 20,000
03 A& 2 HH] 922 0 922
OSUHMEALE (0L 22013) &
128,000, 000& *0.72% 922
HOIEESE 22l 60,000 170,000 A 110,000
401 AlEHIZL 2 0HY| 60,000 170,000 A 110,000
01 Al& H| 60,000 170,000 A 110,000
O M s2d HNOEEH oX&C DM 40,000
OHOIEEHE RIEE 20,000
HALALES AZLXXIH MHAX 2 HHEAE 700,000 0 700,000
Fag 350,000
= 350,000
401 AlEHIZL £ 0HY| 700,000 0 700,000
Fag 350,000
= 350,000
01 Al&H| 700,000 0 700,000
OYZALEE AEIXY MHX L A 700,000
g 350,000
= 350,000
SEHEINE SMNES WA 1,500,000 0 1,500,000
hag 750,000
= 750,000
401 Al HI L £ 0HHI 1,500,000 0 1,500,000
= 750,000
= 750,000
01 Al& H| 1,494,619 0 1,494,619
OSEHIIYE sSH4EH DA 1,494,619
Fag 744,619
= 750,000
03 AlE 201 Y| 5,381 0 5,381
OSEHINE SAEZH WA 5,381
Fag 5,381
BHAMEXEZ2R 200102 X4 500,000 0 500,000
= 400,000
o 100,000
401 AlEHIZ 2 0HY| 500,000 0 500,000
g 400,000
= 100,000
01 Al& B 498,206 0 498,206
BHAME 2| 20|02 =4 498,206
g 398,206




EAM AZXAAD
FM: HsdE 84
Eel: MSAE &5 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 100,000
03 AIE 20l 1,794 0 1,794
OU:MEHSDA 20I0FPE X4
498,206, 000& *0.36% 1,794
s 1,794
CHOFAREE OF & AlEIHA 660,000 0 660,000
s 198,000
s 462,000
T AEHIZXEUY 660,000 0 660,000
s 198,000
s 462,000
01 A& HI 655,868 0 655,868
OCHOHAHEE OFRE AIEIH A 655,868
s 193,868
s 462,000
03 Al =2 THHI 4,132 0 4,132
OHORMEH OFRE Al&IH o
655,868,000& *0.63% 4,132
s 4,132
SEMSsAL 2 1,577,161 2,377,989 A 800,828
as 375,000
[ 1,202,161
FRALEZ 22 844,183 1,906,529 A 1,062,346
101 124 dl 77,859 70,213 7,646
4 D12t Z2XREES 77,859 70,213 7,646
OAZEIE =8 HUI(EHI M=, &8F)
66,800 x14H x9 x4 3] 33,668
OAXZES E4 66,8003 *4H x22 503 26,720
OdAIMCAE S B 66,800& x5 x50 16,700
OdMMEE= 77,088,000 *1% 771
201 LEr2 Y| 478,739 627,811 A 149,072
01 At 22l 82,116 98,832 A16,716
Oget=gH| 75,676
— o8 P (HEXN, ELAEE )
600 000& 128 7,200
—MYoIE=E 7Y 7503 x250& 123 2,250
—S&E4A X HFAH 2,000
— 293 HAHl(23]) 2,000
— =20 Fad 750,000& *23| 1,500
—&IEE FYU(HZEE2 105)
300,000& x12& 3,600
—SZ 2= (320!, dHd, #2387 8)
18,000& = 16CH 122 3,456
—23JI7 ¥ 8 74 250,000 *43| 1,000
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A=A
st |54
SEHMS AL 2

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O=2222 <2 MA 20,874
— M3 1,500,000& =12& 18,000
— MO ERE 200,000& x12& 2,400
—SAYSES AMES 4,5003 x12& 54
—CCTVE QIHY AtE = 35,000 x12& 420
OA&E &l S XYl 10,000
— A& SX &2l(2H0E 5) 10,000
401 Al HI YL 2 0HHI 6,000 225,000 A 219,000
01 Al&H| 6,000 225,000 A 219,000
OMEI=Z2S HNSFAES2 CCTV &2 ZAt 6,000
AZAN-HE 22 312,354 0 312,354
101 @121l 93,474 0 93,474
03 I HLsZ22 NHE 5,404 0 5,404
Oxd2LAN ZEL22E 116,768& 45 x9! 4,204
Ox=H2LA QY 2E=2 100, 000& *4H 400
OxG2AI & MR A W FH|
300,000& «2H 600
O+ZAM L AHRAUI DS (1222)
100, 000& *2H 200
04 JIZtHIZ22XNSE S 88,070 0 88,070
OAUHLEHE A L QI (SAUM & A
) 62,629
—J23(#®Y) 79,8003 x2H »253! 40,379
—FER2Y 79,800& x2% 533 8,459
— X E 79,800& x2H x10 1,596
— 5422 79,8003 *2H *x9 2 *150% 2,155
—AEE = 52,909, 000& *10% 5,291
— &= 54,583,000& /12& 4,549
—OlNQE 22= 100, 000& *2H 200
OalUl=gE CHHRA 25,441
—-J|eg3(ZEy) 66,8003 *1H 253 16,901
—FER3Y 66,800& * 1Y x533 3,541
— ARG 66,800& x1H ~10 668
— 522 66,800& x 15 9 602
—4EE = 20,243,000& *10% 2,025
- &3 1,704,000 x1H 1,704
201 LBr2 Y| 175, 180 0 175,180
01 AR 22l ] 26,200 0 26,200
Ogbt=2H| 13,400
—2gsE Y (MHDIEE, EAESE, otE
X s) 400,000 x12& 4,800




2M A=A
FM: HsdE 84
Hel: SEHSAE 2L (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— AR AR2F F(HIS, ME, AFRD S
) 100, 000& 201 2+ 123 2,400
—JIEME =2 350,000& x12& 4,200
— Y% YSBE(LW, YW S) 7Y
25,000 x40 x23] 2,000
OEgd ZIIZA ===  200,000& «2CH 23] 800
O=gx & S9¥3 A 10,0002 *600E 23| 12,000
02 2324l 148,980 0 148,980
OAU==gE d&Z =& 2IHIXAM 8,000
OQtHUIAT MAAIAE RANEs U =2
580,000& x12& 6,960
O#=9ga 29Tz gy SAES
100,000& =122 1,200
OAU=+EH e AZHI (ZTAIIFL)
8503 x350m x26 L « 128 92,820
OA&EHl s Xl 40,000
— & 2 AgE(EZI, 2, g4 S) 40,000
206 M= Hl 17,400 0 17,400
01 =8l 17,400 0 17,400
OaU+=gd =222z ¢ 17,400
— D] L AL FHY
12,0003 x15Z+12& 2,160
—S&H 15,000 10 122 1,800
—AMEE aasH 12,000& 108128 1,440
— &80 = PHEZEH 15,000 x5S+ 12& 900
—%EZ 5 HE(PH, g4, 2TM)
600,000 »3CH 1,800
—dAE MINZHEXNE dE=S 6,000
—HZH(ELdH) 50,000& x2S »2[H <123 2,400
— =g FAZR EH 150, 000& *62l 900
401 AIEHIZ 28I 26,000 0 26,000
01 A& Hl 26,000 0 26,000
OaW==gZ BLAA2FHl 3,000,000 +20H 6,000
O=gdx =t g2 uiH 4,000,000& =4CH 16,000
O=Z& OIHEZ ==&l 100,000& *40H 4,000
405 XHoHF S HI 300 0 300
01 L EZFH S 300 0 300
OootHdlA3a ItEelddl 2 (1) 300
SRSy dZE uH 375,000 0 375,000
ras 375,000
401 Al B2 2B 375,000 0 375,000
s 375,000
01 A& HI 375,000 0 375,000
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